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85% — 1152 — 1622 + 2382 = Al4bstolzt
cCh "
| —

>
> =l 24400
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(Z4]) = (85— 115) (85 + 115)
+ (238 — 162) (238 + 162)
= —30 x 200 + 76 x 400
= —6000 + 30400 = 24400
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O 3x%2+5x-2 @ 6x*+9x-6 @6x2+x—12

@ 2x2-x-10 ® 2x24+3x-2

B

@ 3x* +5x-2=(3x—1)(x+2)
@ 6x%4+9x—6=3(2x-1)(x +2)
@ 6x? +x-12=(2x+3)(3x—4)
@ 2x* —x-10= (2x-5)(x +2)
®@2x?+3x-2=(2x-1)(x+2)




@ 2x-3y @ 2x-y @ 2x+y

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy — 2my?

-A+m=-1,m=3

“A=-2m,A=6

o 2x% — xy — Ay? = (x - 2y)(2x + 3y)




5. 3x(x-2y)-x+2y E AFEAT A2

@) 3x-1)(x-2y) @ (3x+1)(x+2y)
® (Bx=2y)(x+Y) @ (3x-2y)(x—-1)

® (Bx+2y)(x-1)

3x(x—2y) —x+ 2y = 3x(x — 2y) — (x —2y)
— (x-2)(3x-1)
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8. a=8+2V2<¥ ], a2 -16a+55 2 S Lstoiat.
=1
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(a-11)(a-5) = (8 +2V2-11)(8 +2V2 - 5)
=(2V2-3)(2V2+3) = -1

B

a=8+2V2o" a-8=2+2

FH-S A|F5HH a? - 16a + 64 = 80| L2
— 16a = —-56

(A= -56 + 55 = -1
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(2a — b)? - (2a + b)?
=(2a—b+2a+Db)(2a—b-2a-b)
= da x (—2b)

= —8ab




10. 49x%2 -9+ 1dxy +y? =<l

15235k EHY (ax+y+b)(ax +cy + 3)
7F = ek o, 444 a, b, ¢ ol ot a— b+ ¢ O] FZ FoFH?

@ 2 @ 4 ® 6 @11 ® 16

B

49x? + 14xy +y? -9 = (Tx +y)? - 32

=(Tx+y+3)(7Tx+y-3)
a=7,b=-3,c=1

La-b+c=11




